Kuwait University Math 102 Date: 03/05/2007
Dept. of Math & Computer. Sei.  (Second Midterm) Neuraticn: €0 minviss

(Answer all the following questions. Calculators and mobile phones are not
allowed)

1. (3 points each) Evaluate the following integrals
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2. (4 points) Determine whether the following integral is convergent or divergent,
and find its value in the case of convergence.

3. (3 points each)
a) Find the following limit if it exists
liml-¢~)
b) Find b such that
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Take t = Inz, and use trigonometric substitution ¢ = sin(c), to obtain
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The decomposition in partial fractions gives
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Hence,
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(b) Appiying I’Hospital’s rule three times, we obtain
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